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1 Introduction
Based on the simulation assumptions [1, 2], we provided some initial statistic results for AAS ACLR evaluation when cell partitioning is applied for AAS BS.
2 Discussion
2.1  Simulation cases
We take horizontal/vertical cell splitting as typical scenarios for the first step evaluation. Detailed simulation assumptions are provided in [1, 2].
Table 1 Simulation cases for ACLR

	Case
	Aggressor
	Victim
	Simulated link
	Statistics
	Target RF requirement

	1a_1
	AAS E-UTRA  Macro system: Horizontal cell splitting;
	Legacy E-UTRA Macro system: no cell splitting;
	Downlink
	Throughput loss; throughput CDF
	ACLR

	1b_1
	AAS E-UTRA  Macro system : Vertical cell splitting;
	Legacy E-UTRA Macro system: no cell splitting;
	Downlink
	Throughput loss; throughput CDF
	ACLR

	1c(baseline)
	Legacy

E-UTRA Macro system
	Legacy

E-UTRA Macro system
	Downlink
	Throughput loss; throughput CDF
	ACLR


2.2  Vertical cell partitioning
Simulations are based on the following assumptions:

Aggressor system:

10 MHz E-UTRA with AAS applying vertical cell splitting
Victim system:


10 MHz E-UTRA with passive antenna system


Down-tilt angle:         9 degrees electrical down-tilt in victim system;

Cell partitioning with 9/20 degrees in aggressor system
Correlation level:        0, 0.5, 1.0
Environment:

        Macro Cell, Urban Area, uncoordinated deployment
Cell Range


    750 m
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Figure 1 Case 1a-1: Cell average and 5%CDF throughput loss
2.3  Horizontal cell partitioning
Simulations are based on the following assumptions:

Aggressor system:

10 MHz E-UTRA with AAS applying horizontal cell splitting of ±30degrees
Victim system:


10 MHz E-UTRA with passive antenna system


Down-tilt angle:         9 degrees electrical down-tilt in victim and aggressor system;
Correlation level:        0, 0.5, 1.0
Environment:

        Macro Cell, Urban Area, uncoordinated deployment
Cell Range


    750 m
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Figure 2 Case 1a-1: Cell average and 5%CDF throughput loss

2.4  Observations

1. Cell average and 5% CDF throughput loss caused by aggressor AAS in cell splitting scenarios are consistent with that caused by legacy BS with the same ACLR (per connector) assumption.
For both Case 1a_1and Case 1b_1 (cell partitioning scenario), the cell average and 5% CDF throughput loss of legacy system caused by AAS is lower than that caused by legacy BS. This is due to part of intermodulation products occur outside of the main beams and are distributed to directions where no victim UE is located, and improves ACLR in directions where most of victim UEs are located generally.       
2. The impact of correlation level to the system coexistence is evaluated. Simulation results in Case 1a_1 and Case 1b_1 show that different correlation levels have little impact on the throughput loss when ACLR per transceiver reaches 45dBc due to the fact that the dominant source of adjacent channel interference is due to UE ACS.
3 Conclusion
In this contribution, we provided some initial statistic results for AAS ACLR evaluation, which show that there is no coexistence issue if ACLR per transceiver meets existing BS ACLR requirement.  
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